Routing and Switching I

Lab #10
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In this lab, you will use RIP and IGRP together and get a chance to better understand the commands ‘distance’, ‘distribute-list’ and ‘offset-list’.

1. Use a /24 mask on all the interfaces.

2. Use the address range 130.10.0.0 for all the links.

Scenario 
1. Configure RIP and IGRP on all the routers.

2. Create four loopbacks on R2.

Constraints

1. Loopback 0 of R2 should be seen by R3 as an IGRP route with an administrative distance of 100.

2. Loopback 1 of R2 should be seen by R3 as a RIP route with an administrative distance of 120.

(Use distribute-list to accomplish this step.  Note.  There is more than one way to do this step.)

3. Loopback 2 of R2 should be seen by R3 as a RIP route with an administrative distance of 120.

(Use distance command for this step.)

4. Loopback 3 of R2 should not be reachable from R3.  (Use distance command or if possible offset-list command to do this.  Try all the various methods possible.  Do not use distribute-list command.)
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